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Since that when he does not have, he does not give him, etc.

Overview

The X131 explains the reason why there is no n°27 Mo°X (even though he is deducting
the 7N at a very low price') is because the 7171 is not assured of payment, for if
his fields do not produce (so there is no »"11n), the 3712 will not have to pay him back.?

Mmoo responds to a difficulty:
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And this which 21 forbade,’ in 21 373°8 P91, the practice of 82792, even though
there can be spoilage in the grapes; why is our case different?

mooIn responds:
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Nevertheless here they permitted it because of the benefit to the 375.

Summary
The 7n°77 of a possible loss to avoid the n°27 MO°X is not universal.

Thinking it over
Is Moo question also according to PRI 7"72 >"w0?’

!'See pow1 11"7 'oIn [TIE footnote # 4].

2 The agreement was that the payment will be from »™7n. Therefore since he is not assured of payment we allow him
to deduct the loan at the lower price

3 See *"wn there X071 17"7 who writes; 9720 1X 7012 AW AR PARIYY, 727 79237 7w M0 93 0°NND 272 8797 T2 P MIpY
12727 WA RY 1TV DaK.

4 We see that in the case of X0>770 even though there is a possibility that they will lose their money (by X71°n),
nevertheless 27 is 70, so why here is it permitted because there may be spoilage.

5 The buyers would pay a much lower price in advance, so they are receiving interest on their prepayment.

¢ This way the 1772 can receive a loan before the harvest season. However there by X0>779 there is no pressing need.
7See o1 1 (here) and ‘Thinking it over’ in P01 7"7 '01n (footnote # 6).
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